Ex 2 Answers.

1)  Payback period = $1400/$400/year = 3.5 years

Return on Investment (ROI).  10 year savings = $4000

$4000 = $1400 * e kt

k= Ln(4000/1400) * 1/t

ROI = 10.5%

2) 

	
	Standard 
	“Super efficient”

	# kilowatt-hours consumed by each refrigerator
	4380
	1314

	Cost of electricity for one year
	$262.80
	$78.84

	Annual savings for the “super efficient” refrigerator
	$183.96


*Assuming the motor is on 24 hours per day, probably this is a high estimate (see practice set 2).

3) 

	Total emissions (metric tons CO2)
	1.28x1012 * 1kg/2.2 lbs *1 m.t./1000 kg = 5.82 x 108

	Total emissions (metric tons C)
	5.82 x 108 * 12/44 = 1.59 x 108

	Per capita emissions (metric tons C/person)
	1.59 x 108 / 17 x 106 = 9.33 


